= N N 4 ==f =
HBRABERKREREART — %
[FERK165ERERR ]
[ASKER]
_ = 1 RZEIR 1 RZER 2R EK 2R ER
A-A | BRER | BEEE | s | mx | smak | shay | O0OK
A(E%) 544 278 1. 96 220 174 5 67
TRk B (ftRE) 169 92 1. 84 68 51|
. — 14. 8 —
165 % C(5a#s) 27 20 1.35 9 5| rafE 4
2K 740 390 1.90 297 230 71
(RGBS 1S ]
HE—REEOBIC, IBEREAR LY 4 — TARAYRBEERR . OCYOIHE TARALRE—BHRR) 0% TR,
Bk TR AR TR AR TR AR TR AR
a—X EBREH SE i E B B H— B R H— R
EAE 67 39 28 31.5 71.0 90.0 203. 67 233.00
i 4 3 1 36.5 74.0 79.0 — —
2K 1A 42 29 31.8 71.2 90.0 203. 67 233.00
IEEFES E[37=at:i v -
_ o ah RE - RPEH HEA JERFEER
a R *i%)\ /f%ﬂl“ﬁ% (j&éi) (%i) Hj% EEZE fﬁﬂ% {EE
EAE 45 31 28 8 0 53 45 39
i 3 3 0 1 0 4 3 1
2K 48 34 28 9 0 57 48 40
N2

BERAXRFEO1) /FRRZE) BHRKRE(T) EERBRF(6) /FUFRKRFEA4) —BRFEE)  BERFEQ)
MK (3) EBAE(S) /ABEKRE(2) KRR (2) /REHKRFE(2) RREHAFE(2) /HEKE(),/
RIARZE( /A ARKED) /FEREQ) /BRNRIRZE() /BERREAEZ() / FEXFE),/ MHAEN)/
FEBEXRF() /I@GERFE(D) / mREEERE() /BEERRE() /BEREQ) /HERFE() /BmUXRE)

(TR 6FEEAREEFM]
KE—RBHROBRIZ, 9B ERFAR LY 2 — TERXZRBERAR] . O Y0IEE DERKERKE-BEERR] ORKTREEK,
Bxl Y PN FHRRIASRR [RBASE: [RBASE:
a—2 AEH TSR R R HEMRER | S AR
£ = A BEA A BEA
KE 53 32 21 31.3 72.1 90.0 197 205
BE & 2 1 1 39.0 74.0 79.0 — —
B 55 33 22 31.0 72.2 90.0 197 205
JEEPER IEREED g ph N s
12 san | mzmwms 5 5 AT B4 e Fa
2K 38 26 22 5 0 42 37 30
BL & 2 1 0 1 0 2 2 1
&t 40 27 22 6 0 44 39 31
RN

BERBAXF(9) HRKRF(6) ERERERKRF(D) /BUAKRE(D)  —RBREQ) /FLERKF(3) HEAKER) S
EBAKRFE(3) /IHKRFE(S) T RREHAF(2) /KERKRFE() /FEREN) RREARE) /ALBERF)/

FRMRIKRFE() EBRAE() /BHERERE() /A AE)  EEXRE() / mREFERFEN)
BEARFE() /ImEREN) BERE)




